>
&

N
&
%)

. 2 L3 I3 -
PEPRAERFHET LSRG AR

<~ i %5 - TDR204

1000421 %% o 4%3- % & KL 6

1020527 %% & 43+ % € A2 37 6

1051026 {7 ¥ § 1% 371 i

1070905 7 ¥ § 1% 371 i

1090219 7 ¥ § 1% 371 i

111116 7 5 § 3 8 373 i

AR ARE BRI ES 2 S b iRE o R B RN 2 KE o S RE

* %”ifﬂ%%#*?%ﬁﬁ%?ikﬁﬁ%ﬁ&ﬁ;ﬁﬂwﬁﬁﬁﬁgy

CARE AR ER L S AR ERE S FRTEOC FRY AR REEE
LRSS 5.

WX RRIRGE  fRHELL > FRRY W:J_T},L}\ L BEY o iR
FHFEHRE FERFHL -1 5 FREIW OG5 AL E 2 HHR

3B R HCELIRETLAE A o
PHARERFREFRLAREFTF L T ARV G o TR AR W
YRR R EE AR T
- FMAREERRT D P ERTIEWE R ERA TR E(F R BRI
23 F a3 .
CREEE Y A (Aetit- ) o
B PUERER ESTREAT T EY RN LV S N S R
TN EAEEEY ’3—;*371575 5 PO I~ A RAR TR 2 BP
iiﬁﬁ/ﬁ%ﬁﬁ?’%ﬁ oo FAE E 4 :—Lﬂﬁéﬁﬁﬁiﬁiﬁl’éﬁ— %ﬂfﬁ*/]ﬁvi%f ;

o FFERERP AR AR KT R R AP AR
A@;iﬁﬁﬁﬁ%w%ﬁiﬁw¢P_o
o EEE S R REIT G B Ay e @ 80%8e 0 B S Gy R prpe

20%24 s F 5= A AR E o B - ﬁ%ﬂﬁw«fm%%&,k_%%%ﬁﬁ
9 20%8kd > B ARG R ET T B0 fe 10 %Rl M T M3 o
ﬂ\?ﬂ%/i‘l‘if"rftg‘:iﬁa’jﬁf‘a*& ) [j EE{‘"TR_:, °



K % —

CAPRAE FERPHEEL SRR

W B R ik &y )

L p
. | EFEL FORR 5
| R i
A

253 T & /| P

B A T LA
% LS S i

" mmies
Pl onenp
£
o E = NS RS &R
7| Fﬁ : A
LW S L2
¢ 2me B
(‘»F = - %ﬁ%}
Fimi C
%Eﬁ Jf%ﬁ#ﬂ%’ N
#k}—?-123---) 8y |4 D
o FrTLE
b 2 FftF

%@§4‘¢%iﬁ§%§$%éi
O i3 - PR 247

O 7383 R FIRP
OF# 2 = g

Ll A

Oz mpihrdendz
Clih Hp 3% 2 OH

Hpie [ ;%—;.J:g(i&@ Forg

C AR

PR KEFEY i

Dt e i (5571 § &%)
Clig e he i (5% <~ 55%)
Ol » 4 Rfi e s AL R & B (BKH Y < 5 %)

LR~ 5% m s




it =

CRPHAFRFRHEEL SRR AR ERRERT L

EN EE A 5o

lé’;.. H [had L‘}'.:_ Z
o | om ERAT R #E) | BH i

- Kﬂzs:
® | Al ﬁﬁ‘ i@q wt 1208 | soE | 60
ot EE i
WO A2 | R E SRR SRR 80 g 60 2 40 2
% A 7 =35
A | A3 AP Free ARREE . 20 =k 16 &k 12 =
AR B2 SR (B RS )
PIBL|E(F) A4 60 2 40 Bt 30 2
2~
s | B2 [ PR ARECRE S FE 30 2t 20 =k 15 =
LA B4 22 g T E(E L

g B3 %“‘ﬁ: "‘}\ 7}? ﬂ( ) 20 = 16 = 12 =
B EESHFPFAE S5 ET
B 1Cl | sappFmp Hierh s 253 A4 40 2 30 2 25 %
Vs
m | C2 | 2RENREE 2T L~ JORHE 25 # 20 = 15 2
i
c | C3 | %2 frpk 15 &k 10 2 8 2k
g9 | DI | 2R & REs ¢ 20 gt 15 2t 10 =
5
B | D2 | B )R~ ARG EF 15 &t 10 2 8 2k
W
D | D3 |+2& KKKt 10 2 8 Bt 58
H
o | Bl [ 2F=§ R ERRL 20 gt 15 g 10 g
L2
* | B TEHEFEE - pEm 10 = 8 =k 5 mk
E
2
5 | F1 | 2457 ~ B5(F )& 15 &t 10 2 8 2t
ha
Bl F2 | m4i(3 )£ 10 2 8 2. 5 2
F




